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1. Consider the ODE:
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Find the solution in terms of power series in t. Find its radius of convergence.

2. Consider the ODE:
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Find the power series series solutions of the above and the corresponding radius of con-
vergence.

3. Classify the singularities and find the roots of the indicial equation of :
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4. Classify the singularities and find the Frobenius solution(s) of the following ODEs:
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5. Consider the Bessel’s equation :
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Show that the indicial equation has two roots that differ by one. Can you still find two
Frobenius series solutions ?
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